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�. ;54©< )�eã¯K:

1. +���k�f8¤�f+�¿�^�´+$�éTf8µ4, Áy�.

2. � F þ n��5�m V þ��5C��m L(V )���� n�Ý
� Fn×nÓ�, Á
y�.

3. õ�ª a1(λ), . . . , an(λ) ∈ P [λ]�¤kú�ª8Ü´õ�ª� P [λ]�n�, Ù)¤�
���ú�ª l.c.m{a1(λ), . . . , an(λ)}, Áy�.

4. �Ñ�Ó�Ä�½n, ¿Þ~`².

5. � S, T þ´�5�m V �f�m, Kk S + T = S ∪ T ⇐⇒ S ⊂ T ½S ⊃ T .
6. �5C� σé�þ v)¤�Ì�f�m 〈σ | v〉´�¹ v��� σØCf�m, Áy�.

7. e A´�5Ý
, Kk ρ(A) = ‖A‖2.
8. e A,Bþ��
, Kk tr(A⊗B) = tr(A) · tr(B).

9. � A ∈ Cm×n, � P,Q©O�m�Ú n�jÝ
, Áy (PAQ)+ = Q+A+P+.

�. ;16©< éuÝ


A =

1
6 0 0
0 1

2 0
0 1 1

2


1. ¦ ρ(A), ‖A‖2, ‖A‖1, ±9 ‖A‖∞;

2. ?ê
∑∞

k=1 kA
k−1´ÄÂñºeÂñ, ¦?ê

∑∞
k=1 kA

k−1;

3. ¦ eA, ±9 eAt.

n. ;10©< ®�Ý
9�þ

A =


1 −1 0
0 1 1
1 −1 0
1 0 1

 , b =


2
0
2
0


1. �äÝ
�§ Ax = b´Äk)º

2. ¦)���¦¯K minx∈C3 ‖Ax− b‖2����).

o. ;10©< -Ý


A =

[
1 1
1 1

]
, B =

[
−2 1
1 −2

]
1. ¦Ý
 C = A⊗B �A��;

2. �äXÚ ẋ = Cx�­½5¿{ãnd.

Ê. ;10©< �Ý
 A ∈ Cn×n, ‖A‖´Ý
�p��ê, � detA 6= 0, Áyµ

1. ‖A−1‖ ≥ ‖A‖−1;
2. ‖A−1‖−1 = min

x 6=0

‖Ax‖
‖x‖ , Ù¥ x ∈ Cn.
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